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Assignment

1. Solve the following equations, expressing the solution

i) as anexact value in the form %gg—% if) to two decimal places .
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3. Determine the exact value of x in the form
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4. E\lge;raically diteznine, to the nearest hundredth, the solution to the equation 3(29) = 6° =2~
\ogd(a) -logb x = 042+ loa 3k
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5. A sports car priced at $60 000 depreciates at a rate of 14% per year. The value after n ye:

is given by A = 60 000(0.86)" where A is the amount after depreciation. How long, to the
nearest year, will it take for the value of the car to depreciate to $18 000?
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6. The number, N, of throat swab bacteria being grown in a culture after ¢ hours, is given by
formula N = Ny(10%4%), where N, is the original number of bacteria. If there are initially

500 bacteria in the culture, determine how long it would take, to the nearest tenth of an hc
for the number of bacteria to grow to 1 million.
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7. Solve the following equations expressing the solution
i) asanexactvalue ii) to three decimal places
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8. Over the last ten years, the amount of money, M ( in billions of dollars), spent in
North America by car dealerships advertising their an be modelled by the equatic

M =0.15¢% +0.78, where t = 0 represents the yeaf
In'what year was about 3 billion dollars spent by car deal erships on advertising?
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9. Describe two graphing methods to determine the value of x if 5* = 30. State an appropriat
window. Determine the solution graphically to the nearest hundredth and verify

algebraically.
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10.  Use a graphing calculator to solve each equation to the nearest hundredth. \
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The value of the constant k, to the nearest whole number, if a current of 25 amperes falls
to 2.5 amperes in 0.01 secondsis

(Record your angwer in the it):_mcncal response box from lcﬂto;ight.) ‘73 D
T-05 I-dot p-0\K n (oY=l ((L'D'O\k)
To=as 1.5 "aS ¢
Y=z0.0!\ < - y.o\k \Y\Q\) = -0-0\K
-3 -b.0\k =
0- \ = { - O'O\ K
A30.a5 ... =

~ 13. The price of a famous brand name camera lens can be found by the equation

P = 14(1.1)°, where c is the circumference of the lens in centimetres and P is the price o
the lens in dollars. The diameter, to the nearest tenth of a centimetre, of a camera lens

which costs $2500 is
(Record your answer in the numerical response box from left to right.) l ’] | 3
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14. Kyle determined the exact solution to the exponential equation 52-*= 2. He wrote the
answer as the quotient of two logarithms in the form llogg];l
The value of M. is
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log P

15. The solution to the equation 4* ~ 3 = 5(2Y* ! can be written as m , where P is a whol
number. The value of P is
(Record your answer in the numencal response box from left to right.) 6 O
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Answer Key
] log 9
%860 14y 295 b) i) 82 iy 410 o i) 227 i) 113
log log 7
. 1
3. a) log 5000 log 1.5 o) log 216
log § log 12 log 15
4. 426 5. 8years 6. 7.7 hours

7. a) i)In5 ii) 1.609 b) i)%lnl4 orlny/ 14 i) 1320 ¢) i)-In2o0rln05 ii) -0.693

8. 2009

9. Intersect Method: Insert 5% into Y. Insert the 13 into Y,. Graph Y jand Y, and determine the x-
coordinate of the point of intersection by using the intersect feature of a graphing calculator.
x[-4,4,1] y[-10, 40, 10]

Zero Method: Rearrange the original equation into 5° — 30 = 0. Insert 5* — 30 into Y, graph and
determine the x-intercept(s) of the graph using the zero feature of a graphing calculator.

x[4,4,1]1 y[-30,20,10]
- The solution is x = 2.11.

10. a) -2.78 b) 4.48 11. A 12, 2 3 0

13, 1 7 . 3 14, 1 2 - 5 15. 6 4 0




